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CANDIDATE 1
CANDI Script B

* CENTRE CANDIDATE -
NUMBER NUMBER

s= ACCOUNTING
Paper 2 Structured Written Paper

1 hour 45 minutes

t

Y=== You mustanswef on the-question paper.

== No additional materials are needed.

" INSTRUCTIONS

Answer all questions.

Use a black ordark blue pen. You may use an HB pencil for any diagrams or graphs.

Write your name, centre number and candidate number in the boxes at the top of the page.
Write your answer to each question in the space provided.

Do not use an erasable pen or correction fluid.

Do not write on any bar codes.

You may use a calculator.

International accounting terms and formats should be used as appropriate.

You.should show your workings. .

INFORMATION

e  The total mark for this paperis 100.

e  The number of marks for each question or part question is shown in brackets [ ].

e« Where you are asked to complete a layout, you may not need all the lines for your answer.

This document has 20 pageé. Blank pages are indicated.
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Amara maintains a petty cash book using the imprest system. The imprest amount of $200 is
restored on the first day of each month. On 1 January 2020 Amara had a balance of $65 in her
petty cash.

N

All payments of less than $100 are made from petty cash.
//1 January 2020, Amara owed $85 to Razvan, a credit supplier.

Amara provnded the following information. for January 2020.

January i j,/ The petty cash imprest was restored from the:business bank account.

ﬁrchased stationery for cash, $24.

/ Paid travelling expenses, $49
.1/ Paid Razvan the amount outstanding on his account

19 ' Purchased goods on credit from Razvan, $200 less 10% trade discount

}2/ Paid taxi fare, $18

_28 Returned goods to Razvan which had been purchased on 19 January, list price
. $40

2% Paid.ﬁostage, $14

REQUIRED

(a) Prepare Amara’s petty cash book for the month-of January 2020, on the page opposite.

Balance the petty cash book and bring down the balance on 1 February 2020.

L % 0452/22/F/A/20 I
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Amara’s supplier, Razvan, maintains a full set of accounting records.

REQUIRED
(b} Prepare the account.of Amara as it would appear in the ledger of Razvan.

Balance the account and bring down the balance on 1 February 2020.

Razvan
Amara account
Date Details $. | Date Details s
Tot| Radane bld | 95 ek Bonk..... 85...
......... 01 Soles | 160, 29| Saks  Retuns 36
............. Bz Discawndn | L2000 | e | Litiownt.. “..
T IO S | Ralane.cld.. | 160
285 288
............. S | S
| Beb.d | Ralance bld.. | 16O | ... | ..

(61
On 2 February 2020 Amara paid the balance-due to Razvan. She deducted cash discount of 2%.

REQUIRED

(c) Complete the following table by placing a-tick (v') in the correct column to show how Razvan
should record the ¢ash discount. Where-an account has no entry, tick ‘no.entry’.

debit ' credit no entry
Amara account I W u&'ﬁ
Discount allowed gccodnt ‘ . p'/:??‘;'/*' ‘ -
Discount received.account P N
‘ ' = T ' ' 2]
Amara usually pays Razvan by cash or cheque. l

REQUIRED

{d) State two other methods which Amara could use to pay Razvan from her bank account.

1 Diteck . Deb)

B L T T T R

-
....................................................................................................................................................

[Total: 20]

_
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2 -GHB Limited maintains a full set of accounting records and prepares monthly control accounts.

6

The following information was provided for November 2018.

Purchases ledger controf account balance at 1 November

Totals for November;

¢ iPurchases journal PLC 14200
» A -Purchases returns journal 1? L& 1160
Cash purchases — 5390
Commission receivable — 2110
# Cash discount received PL (L 8507
Cash discount allowed - 710

p Cheques paid to trade payables P L{ 14420
Sales ledger contras P L L _256

& Interest charged by irade payables PL C

(£ Cheque refunds from trade payables PL { 330

DxPurchases ledger control account balance at 30 November ¢ Ld /'QM’QS
REQUIRED
(a) Prepare the purchases ledger control account for GHB Limited for November 2019.

Balance the account on 30 November 201é and Vbring ‘down the balance on 1 December
2019.

GHB Limited
Purchases ledger control account

Date Details™ | § Date Details $
2619 oy
Nov3o | Purchases Reburne | 180 [ Neuzo| Pis fin 2o
Bt b Rl bk
...... 70 | Pogdwges, B9, | Nov | | Balane bld 110940
.............. Bank |k | 30 f}éfckaus - ’;99”
nk e}
Lonkre. ol | 250, ool R | ol
............. Intersk... as . | Tk 4SS
............. Bolante eld | 12192 Oisconat Recavd | 6,50
..................... 26 120 26120
....................... Dozl | Ralapee 3(J [13]4ag
(€]
% 0452/22/F/M/20
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A delivery vehicle was purchased by cheque during'November 2019.

REQUIRED

(b) State two reasons why the purchase of the delivery vehicle was not recorded in the purchases
ledger control account.

1 This s becanse debeery  vehide . is a.. non-cutrd

’ C o
B @ LY /2 TN Zusssnseesdensnesisnnsstnsenasnssanaranss
: d :

o . v e - AP Lo
2 Porchoses.  otzomd | reeeds  ledaer  control | aciomnb prends

‘v..bﬁ.l}ﬁ......iﬂﬁ.&...:...{)MNL‘%&: ' ade of | ganS‘r d. thf;t‘c.s“‘;n crdibo]

.......................................................................................................

[ 3 .

(c} (i) State the most appropriate"metho'::i‘of dépreciati(:n for‘ the ;1ew d:alli\./ery ve‘h'icle.
0 feen Sl Riedindng... Ralanee L MeHhedi o 1
‘ i(ii) State tl;reé reés‘on1$ for ;iéﬁr.én;wér;to‘(c) (i).’ b ' Lo
cn g b oaondh o M e 1 o
t kA e oh e Lo vy sehidle.  conld....
e gdae o gt
TN Thé ariount | depreciated world, . chenge.. withe ..
o Bhememagr L bhe ehicle s D usd
Ty R e e T Giveeal hetbir e of the.
C T sball periad o f Ahe ! delvers C Nebile.
SRS R S Aot i N I

e
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The directors of GHB Limited are planning to finance a major expansion of the. fleet .of delivery
vehicles. $250000 will be required for this expansion. The directors are considering whether to
issue additional ordinary shares or to obtain a long-term bank loan. T :

il

REQUIRED '
(d} Advise the directors which of these two methods of finance is more appropriate.
.. ) . - . R q . a2 ot L% -

Justify your answer with one advantage and one disadvantage of each option,

,Is—s—hr—o-F—eLM AJJH‘)W\@[ 185U e p}\ ér‘Ji‘:\w

...........................................................................

cchlnienal | 1sshe .2l e A
- N X vy . N N v . i
chare. il for. swe. alow  Gug | fenked Yo o btaim. ...

Y )
b N QXFJ;.CO‘"‘PO\YIGQJS:L@“J"O..PIIO\@.&SO\?‘J ....... Gz, .
p).f.,.ﬁ%{;‘,.\(.‘.’s.;’t‘.i?&g.&.‘i.h ..... GhL... Limbel.... <howld. sscmee addibimal.

.ch.i.nqx.v.g........é.kqms.......&s? ....... obkain %lSOOOOf‘erZ‘}mMV 5]
vehicle .
[Total: 20]
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3 Tia and Sarna are partners in a trading business.

Their trial balance at 31 December 2019 was as follows:

) Tia.and Sarna
Trial Balance at 31 Decémber 2019

debit credit
$ $
T S Revenue ‘ _A24.000
T S Inventory at 1 January 2019 ~5390
T SPurchases ~55440
T AiDiscount allowed Ex P —2400 :
T iscountreceived Tpn, 1385
T ACarriage outwards ¢ » _6169~
“LAnsurance = 2D 4 p - =920
'I'S General expenses £ x P ~8100
TS Wages gyu pp £600 )
== Jrade receivables C—P-Bﬁ 11590
Trade payables 6051
1. Bank 8136
Premises at cost = 90000
Fumiture atcosfPep Ex¢ 24000 =200 Y,
Provision for depreciation on furniture 5600
Capital accounts , : . .
Tia ~80000
Sarna ' 49000
Current accotinis . )
Tia 2100
Sarna 4600
Drawings
Tia 15000
Sarna ‘ 17000,
260736 260736
Additional information
Mentory at 31 December 2019 was valued at $5165. . ‘

Mepreciation on furniture-is to be charged at 20% per annum using the straight-line method.

/3/ The insurance includes a payment of $2160 for the 12 months from 1 July 2019 to 30 June
2020.

4 The partnership agreement provides for
interest on capital of 5% per.annum
a salary to Tia of $6000 per anhum
residual profits and losses to be shared equally

ey <
| % 0452/22/F/M/20 |
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REQUIRED

{(a) Prepare the income statement for Tia and Sarna for the year ended 31 December 2019.

M

INHNRARCANAN

Tia and Sarna

¢

Income Statement for the year ended 31 December 2019

$ 5
Revenwte b i p12h 000
Cooskoof sales o S [T
Openiag. b Invenbore, ... S B30 |
Pare hases o SSANO.
T S 69839 | oo
Cloong.... nventery. ..o L LSO | $SS588S
D088 BUOE T 68330
Add i Tncomass Disconlt  Brroived o | BsES. | 1288
et s e i % 0 SR I 62220
Jessi 6xpenses o TR
Discomb Allowved 2800 1
Lovsioae.. Qubwods L6180 [
Trswrane, (38002621602 4 | &30 |
GOenceal EXperseS et | 8200 L
GO LS e | L2800 L .
Provision far. .. duprctiation. on Sawibare | .o |
il Bex) h§00 | 29880
Progliforﬂ&l@gar‘”A‘aﬂf’Q ................... - 20)he

% 0452/22/F /20
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(b) Prepare the appropriation account for Tia and Sarna for the year ended 31 December 2019.

Tia and Sarna

Appropriation Account for the year ended 31 December 2019

....................................
---------------------------------------------------------
...........................

................................

........................................................

.............................................................................

............................................................................

............................................................................

$ $

e | 20[h QO
Mo
L2000
f00@ _ |C1aago)
et | J2820
LBAAS
896 | L11430)

(c)} Prepare the currént account for Sarna for the year ended 31 Décember-2019. Balance the

account and bring down the balance on 1 January 2020.

Tia and Sarna
¢ Sarna current account ¢
Date Details $ Date Details $
2019 R 2019
bre.3l| Pravings... (1000 | Pee.di| Balance..cfld... | 1600
etz | s : . 1r.z..i’.e..r.?é}...Q.n...gepi.ée) 2000
...................... b Probit Share . | 848,
.......................................... SOOI IOV CQ{A){"‘IA T 6244
12600 17 oo
s | L S I N
an’ f% a lqnccml 12 [60o 0
[4]
By 0452122/FIMI20
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Tia and Sarna are considering transferring $7000 from the business bank.account to an interest-
bearing deposit account, :

REQUIRED

(d) Advise the partners whether or not they should:make this transfer. Justify. your.answer by
providing advantages and disadvantages.

T—FT’“G'\JSQ’na"‘C‘}W‘{?hfb}:fqmsf:k,‘fikﬂg

..................................................

........................................

allow{‘kwl‘osanMomaﬂxaugkihmwwkmg
Gap'*«\mﬂgflei“b/;o\“)H\cg'ﬂ\lqkl‘ﬁﬂJfk
Jifﬁcmwl{rkokag{kmim&fpo\gallﬂwkeho[u;

e AR AT I EER PR D P AT PP PP LYY P OPPTEPE PRI PR TTPRTES 2 PPY P (oS r R Py

4 [Total: 20]
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4. Arjun is.a sole trader.

Arjun prepared a trial balance on 31 January 2020. The totals of the debit and credit s;des dlffered
This difference was placed in a suspense-account.

» Arjun later.discovered the following errors.

1 The total of the discount received column in the cash book for January, $135 had been
" “eredited to the*éommission receivable account: * A

2 '$200 received-fiom the'sale of fittings-(net book value $150)‘had been. correctly ‘debited but
had been credlted to the ﬁxtures and f ttmgs account
3 Cash drawnngs $40, had been correctly debited but had been credlted to the purchases
* -account. o . A

. 4 - The total.of the analysis column for.cleaning in the.petty. ¢ash book;'$73, had been transferred
to both the cleaning account and the office expenses account. .
R v . Pt . ‘

t
5 The purchase of equnpment $575 had been credited to the equment repalrs account The
*.bankaccount had been'correctly‘credited. -+ - - ,

6 ..Noventries had been.inade for a-cheque payment for office expenses, $90. -

7 » Acheque; $69, paid to Simone had been posted to-the accourit.of Simon. * *

hald

¢ v

l % 0452/22/F/M/20 I
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REQUIRED

|

UMM -

(a) Prepare journal entries to correct errors 1, 2 and 3.

Narratives are required.

. Arjun
" Journal

t r o

.

Error
number

. Detalls

------

| Comission. receivable ale

..............

..............

..............

..............

anecanareninas

..............

..............

P R P L P SRR O P T 1A 3 (PP 1 P PRI

........................................

...................................

~ Corrgcd o

wes .7

.................................

...........

Parehases...ale..

" ........SV\S pnse

............

..............

l\a
On wrt 36
. .,-Q.......

..............

.......................................

and..fitlings...auomd  wes veblid)|

--------------------------

..........................

..........................

..........................

..........................

..........................

--------------------------

--------------------------

..........................

..........................

..........................

..........................

...........................

..........................

..........................

..........................

..........................

..........................

ter e EIa I Tt v eraana

---------------------------

..........................

..........................

..........................

..........................

..........................

%}j 0452/22/F/M/20
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(b) Prepare the suspense account. Include the original difference on the trial balance, as a
balancing figure.

16

Arjun
Suspense account
Date Details $ Date Details $
2020 3020
dan.2). | alance. e SO . Jan. 3 | Comission Retivall | 138
SRS SUTSR R Discomnt. Repaived | 135
F3himg,
.................................... e | s | e | 806,08 Fiabneccand | 2200
....................................................... I B ?“ul\asc,s% A0
. Slo S10

[4]

{c) Complete the following table by placing a tick (v/ ) in the carrect column to indicate how each
of the errors would affect Arjun's-capital.. ~-
‘ .

The first one has been completed as an example.-

~ 5. 1t

ignore depreciation of non-current assets.

Error number Incréases Decreases No effect
capital capital. ; on capital

3 v

4 \—7

5 o S

6 7

[4]
L_ @ 0452/22/F/M/20 _I
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(d) State three advantages to Arjun of operating as a sole trader. -

..................................

..................................

.....................................

will o} heve . to. ke Shargd e

.....................................................................

.................................................................................................................

\ P '
..... Drere Pl DS O LRDNINLE R Ll
....... eV Whenever | he oonbso
....................................................................................................................... [31
[Total: 20]
1 r
H
r .gv : 4
A}
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5 Adit provided the-following information.
For the year to:313January'2020° - ses $ BRI
Profit for the year 27900
Revenue 186000
Credit purchases 93075
NI v y ey . ,,‘§ ' A ¥
At 31 January 2020
Non-current assets at book value 43700
inventory £A 9340
Trade receivables £A o ' 14010 -~ <
Trade payables L. . . . . U -+ 9435
Bank overdraft £ L. ‘ ~ 2240
Bank loan {repayable 2023) 6000
All goods are sold on credit terms.
REQUIRED
{a) Calculate the following ratios. Show your workings.
_profit margin
' workings answer
272460 oo
1§ 6000 )
) SV
Tormula = Peofit for H‘" ¥ x 100
——F-__—-_-——_. ~
R e (Nt )
trade payables turnover (days)
workings answer
(round up to nearest
whole day)
Trade  Payables 34 %_ %
o TE Parchates X1
2 ) 2.2 K dq ‘1._5
ARS8 , 288 T RLOO
4024

I ﬁ 0452/22/F/Mi20
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trade receivables turnover (days)

MM

. workings CoT R : answer
{round up to nearest
whole day)
TmJ-( ' Qr:g;e':vamld.y X}bj . o c) l
Credst Sq)fs ! . 28 : ags

-_1&0.“’." x 3628 =08 . | . Bl
[§ 600D =18

I

liquid ratio

*workings ' ' answer

Lurrent Assets- Iﬂveh+org |
Curreat Lisbi G 0 s
o (10104 43 1H0) 93RO0
2 [norb+ 3 HD
/4h3 122 LD

. . . . [8]
The bank overdraft limit is $2500. '
The-trade payables turnover for the yéar t 31 January 2019 was 35 days.

REQUIRED

(b) Advise Adit whether-or not he should delay paying trade payables in order to reduce the bank

overdraft. Justify your answer by considering the effect on both the bank balance and the trade
payables. : :

..D.Q..l.ag.!.n% .......... Ehe.... )?.é«.gkv.\x.nlzs ..... ko.....brade...... paa«U&J ...... il
lead... de....increased.. lablibies overall bk wil) e duear
Phe..overdraf b A bhe o oxrdiaf b heik ic ek
zkreached AL s -)Q::Q ......... ég'n"b'm""-“""'"‘P“'h‘j'”ﬁ his
brade.payables. Bk ae. b hes . dready. spent. .
4000, onb_of 42600, Ko coemn delogAhg.
1’\37“1&”‘9&”\9’9)” ....... Lot dvin Bhe . overdradd, Bl .
the. . consequene. may. . be trad | the . .. bl poyshle
MOY.....ehorge.inttresT an...averdue. _atonnde.. and.will.
Ioereose e X pe e 5]

% 0452/22(FIMI20 [Turn over I
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. (¢} - Suggest three other actions which Adit could take to reduce the bank overdraft.

.............................. LO.B0L e
............... bhe. brode. . pegeddar .. 8 reccivakles. bo..
R Y.y T e e e e

3. Rzdmee —sals o —avedds . . orv—trrit, s Inceead e cagh.

(d) (i) State two reasons why Adit should produce an annual income statement.

BTV e e semeema et e eeeeeee e BT ST S

Y *

2_,,,Iq,,,,;),<_n°"'f wkpl: (,_]r\anﬂf.go con)d L;_ _____ mc;.jz in orde

....................................................... aEssnasansatya YerevsessveenussasnsesnnaranaTnnss

to\hwmseﬁprvnﬁ .......................................... 2]

(ii} State two reasons why Adit should apply the money measurgment principle.

e mnene bong.. berms, making .. deddon  moking......
L N1 eversestma oo se e sene oo e eresene
2 OIS O VO it h e Sinaneied .o

posidion..of . Fhe . hutisctsa oo

T ’
........ derererinneterben e ane e sas s nesan e sassas s e anenstesassrodeeetasssen sesessasnenensiennaninnennenserssestonseeinnosses |2
' o , ) , - * [Total: 20]
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